JSUNIL TUTORIAL

10th Chapter Number System CBSE Test Paper — 05
Ql-
Which of the following numbers has terminating decimal expansion ?

37 21 17 : 39
(A 15 (B) 3.8 © D) 5233
Q2--
The [HCF x LCM] for the numbers 50 and 20 is
(A) 10 (B) 100 (C) 1000 (D) 50
Q3--

Which of the following numbers has terminating decimal expansion ?

37 21 C 17 - 59
e (©) ) 7533

(A)

Q4--

Huclid’s division lemma states that for two positive integers a and b, there exist unique
integers o and r such that a= by +r, where r must satisfy —

(A) 1<r<b B) C<r=<b
€) 0=r<b D)y O0<r<b
Q5--
31
The decimal expansion of the rational number ﬁ will terminate after :
(A) one decimal place (B) two decimal places
(C) three decimal places (D) more than 3 decimal places

Q6--

Given that HCF (2520, 6600) = 40, LCM (2520, 6600) = 252 x k, then the value of k
is :

(A) 1650 (B) 1600 (C) 165 (D) 1625

Q7--
If p, g are two co-prime numbers. HCF (p, q) is:

(A) p B) g © pq D) 1
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Q8-
The decimal expansion of the rational number 225 will terminate after.
(B) two decimal places

(D) more than three decimal places

(A)  one decimal place
(C) three decimal places

Q9--
n”—1 is divisible by 8, if n is
(A) an integer (B) a natural number

(D) an even integer

(C) an odd integer

Ql0--
If p, g are two prime numbers, then LCM(p, q) is :
(A) 1 (B) P € q (D) pq
Ql1-
If d=HCF (48, 72), the value of d is :
(A) 24 (B) 48 0 42 (D) 72
Ql2--
11

The decimal expansion of the rational number BEE will terminate after :

(A) one decimal place (B) two decimal places
(C) three decimal place (D) more than 3 decimal places

Q13--

If the HCF of 65 and 117 is expressible in the form 65 m — 117, then the value of m is :
(A) 4 B) 2 © 3 (D) 1

Q14--

If d=LCM(36, 198), then the value of d is :

(A) 396 (B) 198 (C) 36 (D) 1
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115-

In the adjoining factor tree, find the numbers m, n:

m
h
5

A) 2,6 B)300, 50 C) 10,50 D) 25,6
116--
Which of the following is a non-terminating repeating decimal ?

A 35 - 14 ¢ 1 - 7
A 4 ® 3 © - M) 3
117--
If x=23x3x52 _'-;—22:»: 3%, then TICF (x, ¥} is :
(A) 12 (B] 108 (C) € (D) 36
118--
Given that HCF (253, 440)=11 and LCM (253, 440)=253x% R . The value of R is :
(a) 400 (b) 40
(c) 440 (d) 253
119--

The rational number of decimal number 0§ is :

33 2 111
@ &5 (b} 3 © T (d)
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Q20--

If two positive integers a and b are written asa = x2 y2 and b = x? ; x, y are prime
numbers then HCF (a, b) is :

(@) xy (b)  xy? © () Py
Q21--

Given that HCF (26, 91) =13, then LCM of (26, 91) is :

(A) 2366 (B) 182 (C 91 (D) 364
Q22--

[2 =+ -Jﬁ) (2 < Jg] expression is :

(A) A rational number (B) A whole number

(C) An irrational number (D) A natural number
Q23--

If the HCF of 85 and 153 is expressible in the form 85n—153, then value of n is :
(A) 3 B) 2 © 4 D) 1
Q24--

(V2-3) (V3+42) is

(A) A rational number (B) A whole number

(C) An irrational number (D) A natural number
Q25--

A rational number can be expressed as a terminating decimal if the denominator has factors
(A) 2, 3o0rb (B) 2or3 (C)y 3orbd (D) 2or5
Q26--

33

The decimal expansion of 3y 5 will terminate after :

(A) One decimal place (B) Two decimal places

(C) Three decimal places (D) More than three decimal places
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Q27--

Which is not an Irrational number ?

(A) 5-43 (B) 2445 © 4+42 (D) 6++/9
Q28--

Which is not irrational number 7

(A) 5-43 B 6+ ) J3-1 (D) 2/3-3
Q29--

How many prime factors are there in prime factorization of 5005.

(A) 2 (B) 4 (€) 6 (D) 7
Q30--

1192-1112 is :

(A) Prime number (B) Composite number

(C) Anodd prime number (D) Anodd composite number
Q31--

If least prime factor of a is 3 and least prime factor of b is 7, the least prime factor of
(a+b)is:

(A) 2 (B) 3 (€ 5 (D) 11

Q32—

If a, b are coprime, then a?, b” are :

(A) Coprime (B) Not coprime
(C) Odd numbers (D) Even numbers
Q33--

The product of the HCF and LCM of the smallest prime number and the smallest composite
number is :

(A) 2 (B) 4 (©) o (D) 8

Q34--

If n is any natural number, then which of the following expressions ends with 0 :
(A)Y (@Fx2)n (B) (4x3)" (Cy (2x5)" (D) (6x2)"
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Q35--
43
The decimal expansion of the rational number 2553 will terminate after :
(A) 3 places (B) 4 places (C) 5 places (D) 1 place

Q36--

Euclid’s division lemma states that if @ and b are any two +ve integers, then there
exists unique integers q and r such that

(A) a=bg+r,0<r<b (B) a=bg+r,0<r<b
(C) a=bg+r,0<r<b (D) a=bg+r,0<b<r
Q37--

Which of the following is not an irrational number ?
(A) 5-43 (B) 5 +43 (C) 4+2 (D) 5+.9

Q38--
Which of the following is rational ?

(A) Jo++o (B) J2+41 © Ja+9 (D) f3+5

Q39--

Euclid’s division lemma states that if a and b are two positive integers, then there exist
unique integers q and r such that :

(A) a=bq+r,0<r<b (B) a=bg+r,0=rs=bh
(C) a=bgq+r,0=r<b (D) a=bg+r,0=bs<r
Q40--

Which of the following rational numbers have a terminating decimal expansion ?

oy o o e
&) ® S0
15 129
©  Te0 D) 575 52 x 72
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Q41--
The value of x in the factor tree is :

(A) 30 (B) 150 (C) 100 (D) 50

Q42--

Which of the following rational numbers have non terminating and repeating decimal
expansion ?

i B) — o 2 D) =
Q43--
According to Euclid’s division algorithms HCF of any two positive integers a and b with
« Ll vruLaaniino v l.')' ul_,-lr.l.: l.ll.a AoLEdlbd O WALV ATIWVALL A0 LU0 LW L Al LY LW Llline l-l il I Ul L
a=bg +r where r must satisfy.
(A) 1<r<b (B) 0<r<b (C) 0=r<b (D) 0<r=bh
Q44--
The decimal expansion of % will terminate after how many places of decimals ?
(A) 1 (B) 2 (C) 3 (D)  will not terminate
Q45--
) ) 131 ) .
The decimal expansion of 0 will terminate after how many places of decimal ?
(A) 1 (B) 2 (C) 3 (D) will not terminate

Educational Help 24 x 7 www.jsuniltutorial .weebly.com/
07



JSUNIL TUTORIAL

Q46--
According to Euclid’s division algorithm using Euclid’s division lemma for any two positive

integers a and b with a > b enables us to find :

(A) HCF (B) LCM
(C) Decimal expansion (D) Probability
Q47-
The decimal expansion of i will terminate after how many places of decimal ?
(A) 1 (B) 2 (€ 3 (D) 4
Q48--
The decimal expansion of % will terminate after how many places of decimal
(A) 1 (B) 2 Ky B (D) 4
Q49—

For some mteger i, every even integer is of the form

(A) m (B) m+1
(C) 2m (D) 2m+1
Q50—

For some mteger g, every odd integer 1s of the form
(A) ¢ B) g+1
(C) 2¢ D) 27g+1
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